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RETRIEVAL FOCUS

1. Name a soft rock.

2. How is a bay formed?

3. What have humans done to try and slow coastal erosion?

4. How far has the Norfolk coastline retreated over the last 100 years?

5. What does it mean to be “weathered”?

VIPERS QUESTIONS

Put these processes in the order they happen:

A stump forms

A headland cave erodes through into an arch

Waves open a crack in the cliff which erodes into a cave
Soft rock erodes in between hard rock forming a bay

The arch collapses leaving a stack

Explain how a cave is created.

Explain how the waves cause erosion.

Find another word for erosion.

Why might a cliff fall result in a beach being closed .



